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Q.1 f=fafae d @ ggeqis vl & & arer @1 oa+ RS
Ans X A. I agd g o gedt & aro 7 gfeg it |

7< B. af& I7 TG T Tg UTH AT &alt dl 37151 T8 WA 7 g8 el |
X C. A g a8 afie e A i srasa G e g Top Trending GK (Telegram- @trendgk)
o D. IR e Y BLAR I ot Teh i GRT AT F&ed SiIg|

Question ID : 630680173111
Status : Answered
Chosen Option: D

Q.2 Yaifehd arerizn &t Geh IuYh 2Az | ufawriia R :
‘59 gifgea & wafdar sraia us-ford =afwh &1

Ans X A. rgrdta
X B.gdw
25 C.ameR

«* D. gffaa

Question ID : 630680173102
Status : Answered
Chosen Option: D




Q.3 ffafaa d @ ‘g forar ar Reea &1 99w fifsig:
Ans X A I THU R E

< B. Tg o R wRar H sitedt Sl 27

2< C. srearityen sEsi iR uer 28 of|

o D. 7 1 S fivet v el

Question ID : 630680173121
Status : Answered
Chosen Option: D

Q.4 fa=fafEa d @ gnmer vfas we & g o1 9g= R
Ans X A F ) dene sredt arrelt €

" B. 3T TR 3 §, Bl Tehall ¢ I8 31T 3T S11Y|

X C. gg feerera S|

7< D. 7 7g fohame ugim, 3 I8 3@ &

Question ID : 630680173107
Status : Answered
Chosen Option : B

Q.5 ‘g5 F gedhl Well, M W11 A HrS’
IWRI+h it & 3RT arf &1 ag= fifSg:

Ans X A gmdar & o9 areft §
75 B. 3T H Ir<aT-Hel, 9 9 gt
o C. 3rBlasg ATet it SgHe gidl & foheg Wt et aiferehs gleny +ft orog
2 D. e srawma & e giar @

Question ID : 630680173067
Status : Answered
Chosen Option: C

Q.6 F=fafad area-Es &t v Sug T 9 T8
‘St gereh IuT & fag g

Ans X A 9w
« B. OrdwifAe
& C. gderdt
X D. dimrcfia

Question ID : 630680173098
Status : Answered
Chosen Option: B




Q.7 YTifhd aToT-TE i Yok SUYRh A= T T8
‘Tt g geard R g e @ W &

Ans

& A gofarda
" B. A
X C. smarda
< D. swreufien

Question ID : 630680173101
Status : Answered
Chosen Option: B

Q.8

Ans

fFr=fafa@d area-avst gri fAfda Fea gt § @ g areg-= g5 82

reg-fAedt gl 8,
FEREFR,
T 99 gV 2real ge fafre aret & gw,
U AT &,
Qeh hIcdi~ieh,
frg wsfia R

< A, -t g7 gy T el ge fAfIE areril & gRT U¥gd ShRdT & Geh hledi-ich oild < feheg
Bl & TEfaR|

o B. J@IRAHR ea-RAed giar & a1 g gy eal g fafre arert o gRT Geh ahieuf-ieh foheg Ssita
3 T e g

#< C. Ueh sIeufien foheg Tsita o S@IISR TR vl & a1 9 §U 2Ieal ga fAf2re arat & grr
Sree-fRredt giar 8|

25 D. [T 94T I g7 <a] Ga fAfIE arerit & GRT U¥dd el & Geh et =ich [ohg Tofta ol
Sree- et gan g

Question ID : 630680173093
Status : Answered
Chosen Option: B

Q.9 ‘FeET & gTiAATH 2MeE T TG HIAQ:

Ans

XA, sifaRmg
< B. 319
25 C.9eeT
o D. 3TTTn

Question ID : 630680173047
Status : Answered
Chosen Option: B

Q.10 ‘G’ & yafgar 21 &1 9g+ fSY

Ans

<A, amat
5 B.wd
K C.uE
o D. ST

Question ID : 630680173045
Status : Answered
Chosen Option : A




Q.11 F=fafEa arrt d | e area | regoae gweredt sigife 78t 82
[ ITRT T TTF -

Ans X A TR AU IRy Rde &
X B.7ita & o afsal & ot g at
X C. el oft & e @ arqof erfar g€ 8
o D. Hicha Y gt AR AT &

Question ID : 630680173085
Status : Answered
Chosen Option: C

Q.12 F=fafEd | 9 3 are &1 999 &

Ans X A BETEE d 3R 75 S Ed & SEiA g it i ard gAE 98|
< B. D@ # St 3gd & R A5 i TiHE] i e a1d g3 gAs |
< C. TR A= St SE1aTe & 8 & eI+ Jgt Yeh THA] Sl I1d S|
«” D. TR = it SHrar & ga & SEiA g3 i < Uek §1d gATs |

Question ID : 630680173070
Status : Answered
Chosen Option: D

Q.13 ‘foreft wrétet ot FAmrer 7 e TRy, 39 Fidter Tusf &m =nfag)’
arer & forer wmT # e+ i srgpfg &2

Ans X A EATEIREY
< B. fonehi wdt
75 C. fARrer 78t e =Ry,
o D. 3T gl T

Question ID : 630680173055
Status : Answered
Chosen Option: D

Q.14 F=fafEa a9 @ fra e 7 areg-fma g 82

Ans o A AT B¢ I e J Ht IgIA ST Hiferehd T UG fohar &1

< B. 3 T g H<heh TMd JT GifidTeah g
< C. 3mrun § dizan o forg gt & sreriifes 3 gtern el
#< D. gt arTfSies et # et ST ehdT § GasT-U T ol S|

Question ID : 630680173071
Status : Answered
Chosen Option : A




Q.15 F=fafEa arrat & @ forg area | rsgoas wwrd sigpfg 87
313G ATH T T Y

Ans o A T3l 37U Ufdghd $© 61 hel 8l
#< B. 3T CUE UH I & AT B

X C. HgTeAT Sit 31T QY Sfia= agt framda
< D. R forg famm uas sfeH fawa &1

Question ID : 630680173086
Status : Answered
Chosen Option : A

Q.16 =it d | frw araa & Sy=agstys sreg gl §?
Ans X A.Tg 3 a1 gH SIS

< B.afS g wgt a1 A & 39 A o]

o C. Tt I R SIFHT Ul

7< D. gar Feft 3R urt ST 5 gt |

Question ID : 630680173114
Status : Answered
Chosen Option: C

Q.17 fF=afafes ae & fora s | ad+t & siyfg 87
‘Teeeht & ar fruardiai g€ oiik sideraTfeal @t =t &t avg wwfler mar'

Ans o A TREERIES SR
75 B. STideparfeat et
X C R & ar
2< D. Tl chl g Eiter T

Question ID : 630680173056
Status : Answered
Chosen Option: D

Q.18 f=faf@a & 9 fFa areg 7 v Rg '@ &R FReE 82
Ans X A #nha § Tge e

X B. =weT i @ el g

X C. 9= SRl ¥ 2= |

o D. & 59 S 9§ Yk fohare fordif|

Question ID : 630680173117
Status : Answered
Chosen Option: D




Q.19

Ans

‘o1 o1 Qe g GETeR 1 T 3k @7
< A FEAH g

o B. QN AT Tcich I STIE gHT

< C. AR 1 41 fonrg ST

/< D. 9gd T 4 &

Question ID : 630680173060
Status : Answered
Chosen Option: C

Q.20

Ans

Asa & Sfia § anam ik ¥ a1 At orA-SITa & wEA &
Reh wm Y gfef & forg S are- @1 T %

X A fagy
X B. ety
" C.Taem

< D. 3@9re

Question ID : 630680173078
Status : Answered
Chosen Option: C

Q.21

Ans

Comprehension:

‘e R UGHUT FgdT SiT Y81 & | UATaRuT & SRifeid g+ oh T-ieh Tdeh URUITH g1 ST &Rl UR 3k
TETTS ot S0 &3t | Ugell THWT 8- $¢9- TTehs! a1 Shidicl oh G & aTdTaRul B chie ST33iTaTss i dhi
Tt g3 AT g Rl T 61 351 5 | O STAM & foh 39 QraTedl & Sid aeh arae 1.5 feift ofk 4 fht
TérE & T o S| 359 It ofR afaroft gat i adh freet SITerY ofk T T STet TR g ST gt
ST o g ERT &5 STel T g1 ST 3fiR 3t & T 3 @ el il Sfa duer = J ga St

T TS THTT B~ STeTehieehl h SR h SMTHIRT A 3o &l Sa<t # & | I8 g7 It ST & foh siieii
I IR eRct & SHal Y 8T "raeh siaRer R Rl 81 IR aelRITeTRIehTe o ST aTdTaRoT &
Uga T 37T ht U= ST gldt 511 3@ & SR afe gt i & Tg e Iob Fiehx araraRor H fAerd @
37T T TR T STdIRET Tl el Ak U= & AT SHAh &1 ST | TR Ig g foh arrawet fanwot
YRt H TN X STTQI | SHE THET Sl SheR ST o1 gt | a=ieaferdt ofR Sfia sigeii iR T s9eh arden
TTE US| Tellelel aTfaieT <hl S8 GHET Gl TcH ol g [ohdl ST Fehdl fohed 39hT gieg e ek e 38
T 37T ST GehalT §| ST~ SATRH ST ot AT 8¢ et O §THhReh 19 g1 (Heheliit| Tfg g9 3=
R 3R ZARAT ot STl 37 & g RSt ofik ua-SHeif o1 ITTIT A at S ITaTaRvT § Sgd e T
9 397 ghftl’

SubQuestion No : 21

Terien # e 7 R 3 auwnett wR qrem w9 uehir e 87

25 A = & 9 U-Utel R hiei SI33aNIES 14, §1iHehRes 14, SHISTH &l URd, Ua--Soll 3T
& Sfia-sigsil |R u9E W)

< B. &0 &0 § GR-3oll, G-t § FAffT faege ofi sraRer i i wr

o C. T U &Rt & AR TR g4 3R SiiSi= U § 8¢ & HRUT g1 dTet graeh URomst uR

#< D. 7 ¥4 I Sia12r $e o G IR 3R SRet fehruil & Hid &Y STHeR! IR

Question ID : 630680173126
Status : Answered
Chosen Option : A




Q.22

Ans

Comprehension:

"ERelT TR TGHUT ST ST 3gT & | GATeRUT 3 Siiqferd Bi- oh 3ieh BTdeh URUIH g1 ST €Relt UR 31eh
JHETTS et 51 ST | Ugel! THWT 8- $¢9- Tichs! a1 Shidet o G4 § aTdTaRuT B ehiel- STS3iTauTss i
Tl g3 AT TE U=elt T B 36T &1 QT SrgAT & foh 59 raTedl & ofd ae aroA 1.5 it ok 4 feaft
T & T a6 S| 589 It iR Sfaoht ga <l adh frarer STerlt SiR THg ol STat TR gaT1 ST &1
TG foh g e &5 STerT= &1 ST ofiR ¥t & A1 3 @ el i St duer i F ga St

I T THTT &~ SieTehieehl h HUR h MTHIRT A 37Si Sl St # &5 | Ig g7 Tt ST & o siei=
& IR Rt & Sfia i 8 arden siafker fRRol T et &1 TR FARITARIhTe & TRTdR ardTaRor &
T O 37T Y TR ST gl 511 3@ § SfR afe 3t i & g e Yob giehx arararor H fAerd @ b
ITISTIT <hY TIeR OTcieh 37dR&T hUTi ehl ek T H AT 311<h &1 STt | ulRome ag g ok arraTt fheot
YR H T X SITQIM | S THST Rl R ST 1 gt | a=ieaferal ofR St sigeifi iR+t s9eh arden
ToTE US| TeAtelet anfeieT hl §6 GHET &l T d ] [ohdl ST Tehdll foheg 3UhT gfeg i ek ahe 38
T 3G ST GehalT §| STY- SATRH ST ol ST 8¢ et O gThReh 719 g1 (eheliiT| g g9 31~
R 3R SR &t forsTett 3 & forg WR-31f 3R gam-Sif o1 SuahT & dt 399 araraRor # agd & T
9 397 grft1’

SubQuestion No : 22
Iufh erien & 3R TRir w1 g RS Sad arier- s & smawgs aa fAfga gl

25 A, SR R 3k IHWY Uge 9§ B &, e € & ard ofk 9 wi| ofieie il lRa A B g @
1 T R g SITQT 3R STared S47 ST & folg ot aei, [ faegd Sii ol Ieded e S|
ARG # fAe[d 7 36 ¥ TR TSI 3T g SITeH| SH{eIY UATaR0T et Tdel aTdTaul § Sre! 8|

#X B. TaifeaRul T Jehd B1F T eRAT BT 8T Jehe giaT & aure fiARat der gidht & et T her gt
ST ¢ th et STt & a1 381 g1 It Ua Solf l TATT g1 fohdT ST Tehdl SR gl Sl el
AT T8l gt Gehd|

o C. TITER0T S 8 &l H&d AR 347 givl, Teh: €RelT oAl 7T § 141, @RI SHISI chl Ud H o4
Rt & TTH g1 & HRUT hisH STS3TaTsS A Y Sed! AT 8] 39 hRUT St 3R afgoft gt i stk
Ot SITQet 3R THg o1 STel TR de & STHUTY o &3 STer g1 Sigd 3R dqvf Sfte-guar ot & ga
TG STISTH hl Bt # BG 81 6 O SR heutt &t ek UTHT feidhet SN 81 STUTT SR SHehT
HTdeh RO Ig g1 foh TRISTHT fhvomi & ehRuT THEl & iR S 3ich I giF ot

2< D. sfaRer # foxurt & srur exf W aga It SmiRat §ar gt Feacht €, erclt R W s soeft S
gt et St SiR e go ga STTQ| Siia-awuar ga & TRIet &1 @avn +ff | ST & forg sfiares-
Se oft gl o aeeafaat SfiR Sfia Sigaeft 6t smen foned & S|

Question ID : 630680173129
Status : Answered
Chosen Option: C




Comprehension:

‘e TR UGHUT FgdT SiT 38T & | UATaRuT & SRidfeid g1 o 3THeh HTdeh URUITH g1 S &Rl WR 3k
ETTSH et 51 ST | Ugell THWT 8- $¢9- dTchs! a1 Shidiel o G & aTdTaRul B ehied ST3iTaTss i dht
Tt g8 AT g Rl T g1 381 & | T STAM & foh 9 QraTedl & Sid ak arge 1.5 feift ofk 4 fft
e & T 9g ST 3 IR SR feroft gt Hr It e STt R T9g &l ST TR a1 ST 81
TG o g e &5 STerT g1 ST ofiR 3t & T 3 @ el i Sfa duer o # ga St

T T GHTT &~ SieTehieehl h HUR S ST A 3o &l Tast & & | I8 g7 Tt S & s sl
I IR Rt & Sfia i 8 a1 siafer fRRol T et &1 TR FRITARIhTe & SRTTdR ardTaRor &
T T 37T Y TR S gl 511 3@ 8 ofR afe 3t i & g e b giens araraRor H fAerd @
ITISTIAT <Y TIMeR OTdieh 37dR&T hUTi ehl ek T & AT 311<h gf STt ulRome g g ok arraTt fheot
R H U R SO | STY THS! T R ST &1d gt | geafaa ofR Sfia Sigsit i oft 39e aras
TTE US| Tellelet aTfeieT hl §6 THET &l T d g [ohdl ST Gehdl fohegd 3UhT gfeg; o ek e 38
T 37T ST GehdlT §| STY- SATH S ol ST 8 et © gThReh 719 g1 (HeheliiT| Tfg g9 3=
R 3R 3R ot forsteft 3 & forg WR-3w1f 3fR gam-S1f o1 IuahT & dt 399 araraRor # agd s T4
g 3= gtI’

SubQuestion No : 23
Q.23 39 A== T TG HISIT Sit “T9SY 2Aeg 1 gafger=h 78 21
Ans o A TR

5 B.am
2 C.an
25 D. @1t

Question ID : 630680173128
Status : Answered
Chosen Option : A

Comprehension:

‘ERAT TR TGHUT ST ST XET & | GafarvT 3 Sridfeld g1 oh 3iich bTdeh URUTH g St eRkelt U= 31ieh
ETTSH ot 51 AT | Ugell THET 8- Se9- Tiche! IT thitict o &g 4 aTdTaRUl B chis SISSIeTSS 119 hl
<l g3 AT T8 ORI 61 361 & | O SIgAM 2 foh 39 2rared] & 3id aeh araam 1.5 feift ofik 4 fht
e & T dg ST 36 I SR <feroft gat dr ath free st ofk THg a1 Ser TR gaT S g
ST 6 g 9 & STeri 8t SeE 3R 32t 3 91y S st i Sfig duer urt F ger S

T TSt GHTT &~ SfeTehfeehl oh IR S ST B ST &l Sa<t & & | I8 g7 Tft s & s sl
I IR eRet o Shal i 81 T siaRer fhoT T el §1 TR aelRiTeTRIehTe o TRTIAR JTaTaRoT &
UgeH & S <hl URa ST Bl ST 261 & SR afe gt fa & a1 el H<h giehx ardreror A fAerd @ at
37T <hY TR OTdieh 37dReT Sl ehl ek U B AT 31=h gt STt | aRome g ghm o Ryt fheol
Rt B TR AR ST | 3T THLT BT HER ST ST &Y | et ok Sfia siget o +ft s aTaw
Y9G US| TAIal ATrHT 2hT S8 FHIT Rl G T 61 1ol ST HehdT foheg SHehT g ol Aeh e 39
TR 37T ST FehaT & | STY- SIATA S ot STl &g et O gThReh 719 gl (HeheltiT| TfE g9 3=
TR SR SR ot forstelt 3 & forg TR-351f ofR gam-Sro1f a1 IuahT & df S99 aTaraRor § agd o T
g I g’

SubQuestion No : 24
Q.24 39 weian @ Afga awl @ @ o1 aar Iy uRefaa gar &2
Ans X A tafaror & S et e ST
25 B. SicTchfeent &t ath fUrare &t STeRRT &A1
X C. FeRITARIehTe o1 Icetoi 3fiR sraRefia saaeri &t Aen-t

o D. TaTeRT & i aF g GHwsi &1 8 gal

Question ID : 630680173127
Status : Answered
Chosen Option: D




Q.25

Ans

Comprehension:

‘e TR UGHUT gl SiT Y81 & | UaTaRuT & SRiqfeid g1 o 3THeh OTdeh URUITH g1 St &Rl WR 3
ETTS et 51 ST | Ugell THWT 8- $¢9- dicha! a1 Shidet oh G4 § aTdTaRuT B ehiel- STSiTauTss i
Tt g8 AT g R T g1 381 &1 T STgAM & foh 39 raredl & Sid ak arge 1.5 feift ofk 4
GErIe & T 9g ST 38 IR SR faroft gt & ath fiee STt SR T9s a1 ST TR a1 $4T 81
TG o g e &5 STerT= g1 ST ofiR 3t & T 3 @ el i St duer = & ga St

T T THTT &~ SieTehieehl h HUR h SMTHIRT A 3Gl Sl St # &5 | Ig g7 Tt ST & o siei=
I iR Rt & Sfia i 8 arden siafer fRol T et 1 TR FRITARIehTe & eRTdR ardTaRor &
T T 37T Y TR S gl 511 3@ 8 ofR afe 3t i & T e b iehx araraRor H fAerd @ b
ITISTIT <hY TIeR OTcieh 37dR&T hUTi ohl ek U & AT 311k g1 STt | ulRome ag g ok arraTt fheot
YA H TN X SITQIN | S THST Rl R 37 1 gt | a=ieafcrdt ofR St sigeii iR+t s9eh arden
TTe US| Teltelet anfeieT hl §6 GHET &l T d ] [ohdl ST Gehdll foheg 3UhT gfg o ek ahe 38
T 37GT ST GehalT &1 STY- SATRH S ol ST 8¢ et @ gThReh 719 g1 (eheliil| Tfg g9 3=
R 7R TARGT o farsTeft 3 & forg TR-3ho1f SR Ua=T-Irott o IJTANT e ot ST aTATERYT H 9gd A T
g 34 g’

SubQuestion No : 25

TE iR {ET w9 § arefdes Sftaw @ ford uepR T w@ar §?
25 A. 399 gt & JIOHH i & IR H 91T T §

25 B. 3T araRker | gt @ fohar-shettdl T Trafdd SFehRt &

o C. TR H AfYeh TR TR 8 3@ uafaRur Hguul & shRuT SfR Sfia= l g1 aTel aTdes TiRoms et
ISR fendl T &

25 D. 3TH Sitarsd e 3R FeH SESHIEE 79 & UhRI i SHHR! foerdt &

Question ID : 630680173125
Status : Answered
Chosen Option: C

Section : Englishikanguage

Q.1

Ans

Select the most appropriate preposition to fill in the blank.
| reasoned him but could not bring him round.

KA to

5 B. for
#< C. about

" D. with

Question ID : 630680173003
Status : Not Answered
Chosen Option : --

Q.2

Ans

Select the most appropriate option to fill in the blank.
She here all her life.

XA lives

#< B.is living
< C. live

+" D. has lived

Question ID : 630680173013
Status : Not Answered
Chosen Option : --




Q.3 Select the most appropriate synonym of the given word.
Ignominious

Ans X A llliterate
#< B. Distinguished
25 C. Creditable
+" D. Dishonourable

Question ID : 630680172944
Status : Not Answered
Chosen Option : --

Q.4 Select the option that has a spelling error.
Ans  # A Therivers originating in the Himalayas are perrenial.

#< B. The Coffee House on MG Road was a famous rendezvous for writers.
£ C. The writer treated plebians with contempt in his plays.

25 D. The hardened criminals are the last to feel qualms while committing cruel deeds.

Question ID : 630680172961
Status : Not Answered
Chosen Option : --

Q.5 Select the option that has a spelling error.
Ans X A.Heis running his business in a kiosk due to lack of funds.

#5 B. Being naive she believes in all that her friends tell her.
«# C. Hisstaff always treats.his orders with lavity.

< D. In the fair, many pilgrims were injured in the melee.

Question ID : 630680172959
Status : Not Answered
Chosen Option : --

Q.6 The following extract has an error in syntax/structure. Choose the option that gives the
correct alternative.
There are a few factors driven the demand for most increased flexibility. Globalization is
being one. The development of a 24/7 marketplace and the rapid expansion of the services
economy are also having a transformational effect on the workplace, requiring
organizations to think creatively about how they can best organize jobs and work to respond
to an increasingly diverse and demanding customer base.

Ans X A. The development of a 24/7 marketplace and the rapid expansion of the services
economy are also having a transformational effect on the workplace

«# B. There are a few factors driving the demand for increased flexibility. Globalization is
one.

25 C. and work to respond to an increasingly diverse and demanding customer base.

2< D. requiring organizations to think creatively about how they can best organize jobs

Question ID : 630680172968
Status : Not Answered
Chosen Option : --




Q.7 Select the most appropriate option to fill in the blanks.
One of the most important things to notice about the of art is the way in which great
works continue to their influence through the ages. Scientific , Which are of
major importance at the time, when they are made, are superseded.

Ans & A power; exert; discoveries
X B. malevolence; empower; manifestations
25 C. novelty; superimpose; disasters

25 D. cruelty; exhibit; inventions

Question ID : 630680172977
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate meaning of the given idiom.
French leave

Ans X A. To leave an unfinished meeting
25 B. To take leave to go to France
+" C. To take unauthorised leave

5 D. To take someone for granted

Question ID : 630680172951
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate option to fill in the blanks.
Dictators are to power against their opponents ruthlessly.

Ans X A. exhausted; wreaking
< B. accused; yielding
< C. accosted; welding

4" D. accustomed; wielding

Question ID : 630680172989
Status : Not Answered
Chosen Option : --

Q.10 The following extract has an error in syntax/structure. Choose the option that gives the
correct alternative.
When Hurricane Harvey was being looming off the coast of my home State of Texas, it
seemed to fill the entire Gulf of Mexico. When it roared on land, it pummelled the towns of
Rockfort and Port Aransas, whose tawny beaches | have walked with my kids, pointing out
the indigo sails of Portuguese man O war jellyfish.

Ans  # A When Hurricane Harvey loomed off the coast of my home State of Texas
< B. it seemed to be filling the entire Gulf of Mexico

< C. whose tawny beaches | have been walking with my kids, pointing out the indigo sails
of Portuguese man O war jellyfish.

< D. When it had been roared on land, it pummelled the towns of Rockfort and Port
Aransas

Question ID : 630680172966
Status : Not Answered
Chosen Option : --




Q.11 Select the most appropriate article to fill in the blank. In case no article is needed, select 'No
article required'.
He hit me on back.

Ans X A a

< B. No article required

5 C.an
«" D. the

Question ID : 630680173007
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate option to fill in the blanks.
There’'s more than the 101-seater dining table at the Falaknuma palace that is awe .
The library done in rosewood and mahogany is a place that will force anyone to , if
only to admire the fine original polish, the furniture and the walnut carved high roof. The last
is supposedly an of the one at Windsor Castle.

Ans & A.inspiring; pause; imitation
#< B. conveying; appreciate; abolition
2% C. breathtaking; stalk; admiration

2% D. admiring; bustle; alliteration

Question ID : 630680172985
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate option to fill in the blanks.
| do not wish to suggest that because we were one nation, wehadno_____, butitis
submitted that our men travelled throughout India either on foot or in bullock carts.
They one another’s languages, and there was no aloofness amongst them.

Ans  # A differences; leading; learned

#< B. clarity; linguistic; defamed
#5 C. desires; opponent; publicised

25 D. similarities; popular; hated

Question ID : 630680172974
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate ANTONYM of the given word.
Kindred

Ans X A Relative
< B. Congenial
4" C. Unrelated
< D. Affiliated

Question ID : 630680172942
Status : Not Answered
Chosen Option : --




Q.15 Select the most appropriate option to fill in the blank.
Sonu acted

Ans X A thoughtless

¥ B. thoughtfully
< C. thoughtful
25 D. with thought

Question ID : 630680172998
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate meaning of the given proverb.
If it ain't broke, don't fix it.

Ans X A. Unless you are completely a pauper, there’s no need to work.
#5 B. Unless you try something, you will never learn a new thing.
#< C.If you are not sure about fixing something, don't take a risk.

«" D. If something works well already, don’t bother trying to change it.

Question ID : 630680172955
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate option to fill in the blanks.

The Mughals and the English always depended on to defeat their enemies.

Ans X A. novices; benevolent
< B. hypocrites; gregarious
/< C. ascetics; amateur

«” D. quislings; indomitable

Question ID : 630680172992
Status : Not Answered
Chosen Option : --

Q.18 The following extract has error in syntax/structure. Choose the option that gives the correct
alternative.
The cloud offers great promise for developers especially, as it can increase the speed at
which they develop software features and increasingly the resilience of applications once
with they are deployed along by enhanced security through the use of multiple server
locations. With all these considered, it is no surprise that 42% of UK businesses leverage
some kind of cloud service, according to Eurostat.

Ans X A. The cloud offers great promise for developers especially, as it can increase the speed
at which they develop software features

+" B. and increase the resilience of applications once they are deployed along with
enhanced security

#< C.itis no surprise that 42% of UK businesses leverage some kind of cloud service,
according to Eurostat.

< D. through the use of multiple server locations. With all these considered,

Question ID : 630680172969
Status : Not Answered
Chosen Option : --




article required'.
On contrary, you performed the rituals exactly against the customs.

Ans X A an
/< B.a

25 C. No article required
" D. the

Q.19 Select the most appropriate article to fill in the blank. In case no article is needed, select 'No

Question ID : 630680173006
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate option to fill in the blank.
She food when | reach home.

Ans & A will have already prepared
2 B. will already prepared
25 C. will be already prepared
#5 D. will already have preparing

Question ID : 630680173019
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

There is a market failure in cyber security. Solutions being suggested or tried include
increasing transparency about data losses, helping consumers and firms to make more
informed decisions about cyber security, shedding more light on how Internet Service
Providers (ISPs) tackle malware infections they spot on customers’ computers and using
liability laws to force software companies to produce safer codes. On transparency, America
has led the way. Almost all American States now have data-breach laws that require firms to
reveal any loss of sensitive customer information. In Europe, telecom firms have been obliged
to notify customers of breaches for some time now, and there are plans to extend reporting to
a wider range of industries.

Breach laws have encouraged insurance companies to offer coverage against potential
losses. This is helpful because they are in a position to gather and share information about
best practices across a wide range of companies. A cyber insurer advises companies on
defensive tactics and also on how to minimise the damage if something goes wrong. The
American government should create a Cyber Security Board equivalent of the National
Transportation Safety Board, which investigates serious accidents and shares information
about them.

Such a body could look into all breaches that cost over $50 m and make sure the lessons are
shared widely. But insurers are likely to remain wary of taking on broader risks because the
costs associated with a serious cyber accident could be astronomic. Insurers can deal with
acts of God but not acts of anonymous hacking groups or acts of state-sponsored hacking.
This explains why the overall cyber-insurance market is still small. Governments are weighing
in, too, not least by supporting private-sector efforts to clean up botnets, or networks of
compromised computers controlled by hackers. These networks, which are prevalent in
countries such as America and China, can be used to launch attacks and spread malware.

SubQuestion No : 21
Q.21 Choose the most appropriate central theme of the passage from the options given below.
Ans X A. America’s lack of transparency on cyber security

Z< B. Different types of cyber breaches
< C. Threats of cyber security breaches

«" D. Preventive measures for cyber security breaches

Question ID : 630680173027
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

There is a market failure in cyber security. Solutions being suggested or tried include
increasing transparency about data losses, helping consumers and firms to make more
informed decisions about cyber security, shedding more light on how Internet Service
Providers (ISPs) tackle malware infections they spot on customers’ computers and using
liability laws to force software companies to produce safer codes. On transparency, America
has led the way. Almost all American States now have data-breach laws that require firms to
reveal any loss of sensitive customer information. In Europe, telecom firms have been obliged
to notify customers of breaches for some time now, and there are plans to extend reporting to
a wider range of industries.

Breach laws have encouraged insurance companies to offer coverage against potential
losses. This is helpful because they are in a position to gather and share information about
best practices across a wide range of companies. A cyber insurer advises companies on
defensive tactics and also on how to minimise the damage if something goes wrong. The
American government should create a Cyber Security Board equivalent of the National
Transportation Safety Board, which investigates serious accidents and shares information
about them.

Such a body could look into all breaches that cost over $50 m and make sure the lessons are
shared widely. But insurers are likely to remain wary of taking on broader risks because the
costs associated with a serious cyber accident could be astronomic. Insurers can deal with
acts of God but not acts of anonymous hacking groups or acts of state-sponsored hacking.
This explains why the overall cyber-insurance market is still small. Governments are weighing
in, too, not least by supporting private-sector efforts to clean up botnets, or networks of
compromised computers controlled by hackers. These networks, which are prevalent in
countries such as America and China, can be used to launch attacks and spread malware.

SubQuestion No : 22
Q.22 Which word in the passage means ‘not identified by name (of a person)’?
Ans X A Customers

< B. Transparency
«" C. Anonymous
25 D. Hacker

Question ID : 630680173031
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

There is a market failure in cyber security. Solutions being suggested or tried include
increasing transparency about data losses, helping consumers and firms to make more
informed decisions about cyber security, shedding more light on how Internet Service
Providers (ISPs) tackle malware infections they spot on customers’ computers and using
liability laws to force software companies to produce safer codes. On transparency, America
has led the way. Almost all American States now have data-breach laws that require firms to
reveal any loss of sensitive customer information. In Europe, telecom firms have been obliged
to notify customers of breaches for some time now, and there are plans to extend reporting to
a wider range of industries.

Breach laws have encouraged insurance companies to offer coverage against potential
losses. This is helpful because they are in a position to gather and share information about
best practices across a wide range of companies. A cyber insurer advises companies on
defensive tactics and also on how to minimise the damage if something goes wrong. The
American government should create a Cyber Security Board equivalent of the National
Transportation Safety Board, which investigates serious accidents and shares information
about them.

Such a body could look into all breaches that cost over $50 m and make sure the lessons are
shared widely. But insurers are likely to remain wary of taking on broader risks because the
costs associated with a serious cyber accident could be astronomic. Insurers can deal with
acts of God but not acts of anonymous hacking groups or acts of state-sponsored hacking.
This explains why the overall cyber-insurance market is still small. Governments are weighing
in, too, not least by supporting private-sector efforts to clean up botnets, or networks of
compromised computers controlled by hackers. These networks, which are prevalent in
countries such as America and China, can be used to launch attacks and spread malware.

SubQuestion No : 23
Q.23 Select the option that is the opposite of the word ‘breach’.
Ans X A. Contravention

< B. Transgression
< C. Noncompliance
+«# D. Observance

Question ID : 630680173030
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

There is a market failure in cyber security. Solutions being suggested or tried include
increasing transparency about data losses, helping consumers and firms to make more
informed decisions about cyber security, shedding more light on how Internet Service
Providers (ISPs) tackle malware infections they spot on customers’ computers and using
liability laws to force software companies to produce safer codes. On transparency, America
has led the way. Almost all American States now have data-breach laws that require firms to
reveal any loss of sensitive customer information. In Europe, telecom firms have been obliged
to notify customers of breaches for some time now, and there are plans to extend reporting to
a wider range of industries.

Breach laws have encouraged insurance companies to offer coverage against potential
losses. This is helpful because they are in a position to gather and share information about
best practices across a wide range of companies. A cyber insurer advises companies on
defensive tactics and also on how to minimise the damage if something goes wrong. The
American government should create a Cyber Security Board equivalent of the National
Transportation Safety Board, which investigates serious accidents and shares information
about them.

Such a body could look into all breaches that cost over $50 m and make sure the lessons are
shared widely. But insurers are likely to remain wary of taking on broader risks because the
costs associated with a serious cyber accident could be astronomic. Insurers can deal with
acts of God but not acts of anonymous hacking groups or acts of state-sponsored hacking.
This explains why the overall cyber-insurance market is still small. Governments are weighing
in, too, not least by supporting private-sector efforts to clean up botnets, or networks of
compromised computers controlled by hackers. These networks, which are prevalent in
countries such as America and China, can be used to launch attacks and spread malware.

SubQuestion No : 24
Q.24 What would be a good idea for a company to invest in to prevent cyber threats?
Ans X A. Hiring anonymous hacking groups to spy on others

«" B. Hiring a cyber insurer to advise on defensive tactics
75 C. Creating a National Transportation Safety Board in the company

Z5 D. Paying the Cyber Security Board $50 m to prevent data breaches

Question ID : 630680173029
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

There is a market failure in cyber security. Solutions being suggested or tried include
increasing transparency about data losses, helping consumers and firms to make more
informed decisions about cyber security, shedding more light on how Internet Service
Providers (ISPs) tackle malware infections they spot on customers’ computers and using
liability laws to force software companies to produce safer codes. On transparency, America
has led the way. Almost all American States now have data-breach laws that require firms to
reveal any loss of sensitive customer information. In Europe, telecom firms have been obliged
to notify customers of breaches for some time now, and there are plans to extend reporting to
a wider range of industries.

Breach laws have encouraged insurance companies to offer coverage against potential
losses. This is helpful because they are in a position to gather and share information about
best practices across a wide range of companies. A cyber insurer advises companies on
defensive tactics and also on how to minimise the damage if something goes wrong. The
American government should create a Cyber Security Board equivalent of the National
Transportation Safety Board, which investigates serious accidents and shares information
about them.

Such a body could look into all breaches that cost over $50 m and make sure the lessons are
shared widely. But insurers are likely to remain wary of taking on broader risks because the
costs associated with a serious cyber accident could be astronomic. Insurers can deal with
acts of God but not acts of anonymous hacking groups or acts of state-sponsored hacking.
This explains why the overall cyber-insurance market is still small. Governments are weighing
in, too, not least by supporting private-sector efforts to clean up botnets, or networks of
compromised computers controlled by hackers. These networks, which are prevalent in
countries such as America and China, can be used to launch attacks and spread malware.

SubQuestion No : 25
Q.25 Which of the following is not a relevant solution for cyber security threats?
Ans X A. Creating more transparency about data losses

2<% B. Compelling ISPs to tackle malware infections
7% C. Enforcing laws related to producing safer codes

«" D. Making the cyber instirance market smaller

Question ID : 630680173028
Status : Not Answered
Chosen Option : --

Section : General Aptitude

Q.1 WReg e e & At 361 & & H9-91 I i @Y &fqar g?
Ans o A diNcH

X Bz
X C.y
< D.dR

Question ID : 630680173286
Status : Answered
Chosen Option: A




Q.2 EFET Y AT P TS & areR R Fmfaf@a d @ fore o & dfia &t o of?
Ans o A0 HET

< B.auf 8l

25 C. HgRIUT ydra

X Do &g I

Question ID : 630680173270
Status : Answered
Chosen Option : A

Q.3 F=fafaa d @ form mae/miAe 3 2007 § wid o1 Haiea AFTRS T SHheR 31Tt & A
SHTER ST & Ao M SR ure frar?
Ans X A e &
o B. a1 "R
X C.7.09. egereH
7< D. T o). aregsroas

Question ID : 630680173292
Status : Answered
Chosen Option: C

Q.4 femrae weer A gu e Rum gur gama d wrdia wfia sids 3 frat @i sidi?
Ans X A .38

7 B.39

& C. 40

X D. 41

Question ID : 630680173340
Status : Answered
Chosen Option: C

Q.5 ffafae d @ fre smain H RwRer & snuR R wRAT Rerd da R wumgaT 6 1€ 02
Ans o A fgeea @ ST

#< B. gcthicg SmaiT

25 C. gy smanT

2< D. fegestt smamT

Question ID : 630680173304
Status : Answered
Chosen Option : A




Q.6 SN 2023 deh Al THEHRT IR, FEfafaa d @ wi= a1 e ardsifAes &9 @ sgygfRa 36
g e?

Ans X A. da 3iTth Sgtar

< B. da oifes gfzar

X C. S 3iTth HERTE

o D. 3o Sifth dsTa

Question ID : 630680173300
Status : Answered
Chosen Option: C

Q.7 SfEgER 2022 & A7 g #, i uee a1, dugs * "at < & el gd g
graefeat d @ forerent wm= foram?

Ans o A 35T I Aferd
2< B. 2R oRfdg a2
5 C. g4t o
< D. &ues s

Question ID : 630680173346
Status : Answered
Chosen Option : A

Q.8 fFAfafae d | fra o & wfia @rer gren sifafaw aiika frar war ar?
Ans 2 A 2013

X B.2015

X C.2012

2 D.2014

Question ID : 630680173274
Status : Answered
Chosen Option : A

Q.9 1872 # 2R 3l FHIEY ZRT ATE AT Y gear FAfaifEa 7 @ fohe == wr &y 7 o2
Ans X A cEA SR 9

X B.Ws

o C. UE <RR

X D.7%E

Question ID : 630680173279
Status : Not Answered
Chosen Option : --




Q.10 fF=fafeEa d & w9 a1 dedt o1 gead 781 &2
Ans X A. fagd sowe

75 B. JYRhRH

o C. T

X D. sdagts

Question ID : 630680173333
Status : Answered
Chosen Option: C

Q.11 #ega T4 FAfafaa 9 @ frg ara 77 & fog o= o e &2
Ans o A AR

X B.uE

X C aigh

25 D.

Question ID : 630680173290
Status : Not Answered
Chosen Option : --

Q.12 AT SURTY Ieh1E G-I hl WA A TRt 2021 RUié & gaR, WRd & Ffaf@a d | fora
I B TeTehR & oY 3ifdreh ArTet 9+ o1y &2

Ans X A gRamon
75 B.fagr
o C. TSI
25 D. g U

Question ID : 630680173254
Status : Answered
Chosen Option: C

Q.13 2011 &Y STIUMT & FHR, 2011 & WRe hl ST G- fha=T UT?
Ans X A 245/km?

o B. 382/km?

X C. 432/km?

< D. 486/km?

Question ID : 630680173316
Status : Answered
Chosen Option : B
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Ans X A 397
& B. 408
< C.383
< D.37d

Question ID : 630680173283
Status : Answered
Chosen Option : A

Q.15 F=fafEa # 9 fFa darfes ot i of vieifiht 2021 & o 2nifa @7 WearR ReRR
(SSB) =&l e 87
Ans X A SI sfass fayge

«” B. 2. fasrgapid smf
X C. =1, siftia g
2< D. Ef. 3301 AR &

Question ID : 630680173251
Status : Not Answered
Chosen Option : --

Q.16 HILRUT A T Iheld TR J FH T 8l
Ans X A.140/88 mmHg

7< B. 130/70 mmHg
«” C. 120/80 mmHg
2< D.128/82 mmHg

Question ID : 630680173331
Status : Answered
Chosen Option: C

Q.17 fed=m @’ Bk arshe I il WuAT YR & R=afaf@d & @ forg dwm= 4 6 1 of?
Ans X A, fceht qep-iehl fasfoemmera

< B. R vienfieh dwrm fewedt
o C. R fagm I=
#< D. forer drenfireht dwime

Question ID : 630680173315
Status : Answered
Chosen Option: B
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Ans o A foce
< B.ar
X C. TgrRIE
X D. I3

Question ID : 630680173320
Status : Answered
Chosen Option : A

Q.19 2021-22 #, urafas & I=aar ATeafAeh a whell RAen J ¥ A a eyt & go @@
ot

Ans X A 5557 &g
< B. 4557 &
/< C.35.57 &g
«” D. 25.57 &l

Question ID : 630680173257
Status : Not Answered
Chosen Option : --

Q.20 2022 & fA=fafEa & @ frw 7 | i (srggfRa sHenta) snder (B d@aitem) fdaw
dae & ST wel d utika g ur?

Ans o A e 2022
75 B. AT 2022
< C. s 2022
2< D. Tt 2022

Question ID : 630680173261
Status : Answered
Chosen Option : B

Q.21 2022 #, ATghersd HAvft & Zomard YRR UTE e are &1 @rs f=faf@a J & fra fordhe
et & & 92

Ans X A. foRte shtgeft
/< B. giféas uizm
< C. g foher
« D. fgd e et

Question ID : 630680173266
Status : Answered
Chosen Option : A
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Question ID : 630680173308
Status : Answered
Chosen Option: C

Q.23 2021-22 # arafds Ghd R SAR HI g 3@t
Ans X A 6.8%

X B.4.3%
< C.6.5%
& D.8.7%

Question ID : 630680173296
Status : Answered
Chosen Option : A

Q.24 ua™, St gaet I ¥ IT 9T S | gl &, ST SR UR Uah a+t & ud-%fd & 3= gia &,
Ganfaa gl

Ans X A S8
75 B. el
K Ccog
o D. i

Question ID : 630680173327
Status : Not Answered
Chosen Option : --

Q.25 uRd d@faeas o1 fAfaf@d d @ o a1 s wgar g foh IRt Afdt (State funds) gRT
qofd: Senferd fredt oft sterfOrer Swum & ot urfifer s ver =g frar som?

Ans X A 3G 26
< B. argeg 27
< C. 3arge3e 29
o D. 3rg<oq 28

Question ID : 630680173339
Status : Answered
Chosen Option: D

Section : General Intelligence




Q.1

Ans
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Question ID : 630680176410
Status : Answered
Chosen Option: D

Q.2

Ans

F=lafm ae & g sew-aen R # & o snw § B @ voe & O e vw R e
@O NMI1KT64A9SP4Y14UJ98T3XT7F6A3Y5K2ZAG (@)

(Fle- Feieh WEAT U 3o B GET §)

XA.Eﬂ'
X B O
v C T
X0 T

Question ID : 630680173399
Status : Answered
Chosen Option: C
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Question ID : 630680173376
Status : Answered
Chosen Option: B
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Question ID : 630680176418
Status : Answered
Chosen Option: B
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Question ID : 630680176429
Status : Not Answered
Chosen Option : --
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Ans X A H760
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Question ID : 630680173390
Status : Answered
Chosen Option: B
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Question ID : 630680173425
Status : Answered
Chosen Option : A
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Question ID : 630680173429
Status : Answered
Chosen Option : A
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Question ID : 630680173377
Status : Not Answered
Chosen Option : --
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Question ID : 630680176407
Status : Answered
Chosen Option : A
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Question ID : 630680176466
Status : Answered
Chosen Option : A
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Question ID : 630680176443
Status : Answered
Chosen Option: C
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Question ID : 630680176455
Status : Answered
Chosen Option : A
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Question ID : 630680176468
Status : Answered
Chosen Option : A
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Question ID : 630680176480

Status : Not Answered
Chosen Option : --
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Question ID : 630680173436
Status : Answered
Chosen Option : B
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Question ID : 630680176436
Status : Answered
Chosen Option: B
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Question ID : 630680176425
Status : Answered
Chosen Option: B

Q.19 RE 71w Reedt # & 3@ F&W T TG F S AT g@er # geears e (?) & awie
FT G Bl

55, 60, 70, 85, 105, ?

Ans XA 125
X8 120
¢ C 130
XD 135

Question ID : 630680173449
Status : Answered
Chosen Option: C

Q.20 mﬁmﬁ#mmmmmmmmﬁmﬂﬁ?ﬂmaﬁﬁwﬁHw
Hebll I
1,3, 3,9, 27, 243, ?

Ans XA B569
< B. 6563
X C. 6567
+ D. 6561

Question ID : 630680176476
Status : Answered
Chosen Option: D

Ans s A

Question ID : 630680176392
Status : Not Answered
Chosen Option : --




Q.22 R3er 4 km 3eaw #r AT Toaw & BT 3 km 9T & A T ¥ 3w B 4 km Ef@Or $ # Tear
&1 & feever e T @ R T &2

Ans KA 7 km
X B 4 km
< C 5 km
« D 3 km

Question ID : 630680173411
Status : Answered
Chosen Option: D

Q23 A1 Ru M MeR-TFH ¥ UF HIOT ereg F ¥ v, 3WH FA-AT W FH 9T @ R
E.N, O, E D, R?

Ans 5 A A
X B H
vC C
XD G

Question ID : 630680176446
Status : Answered
Chosen Option: D

¥ A OF TEy
E@mosﬁr

Question ID : 630680176389
Status : Not Answered
Chosen Option : --

Q25 RmffRa gdewur & sedaras e (7) F TAE I RN e AT T ART?
44,92 - 84.99 + 17.01 + 14.92 x 11.08 = ?
Ans X A 235
v B 205
x<c 290
~< D 160

Question ID : 630680173459
Status : Answered
Chosen Option: B

Section : Quantitative Aptitude




Q.1 Fr=fafg ofem Re ov a6l # ve Faer garr @iEa St & R autd &1 ot &1 sreawe
w1 A 38 TIE A aTe ToT & ZeaW 3
fw v et & w Fue gEnr a= s fafdes
g Rt & g (g gan )
- = F 9=
4AH | 7AH | 32AH | 35AH | 55AH
2015 75 | 142 | 112 100 105
2016 91 125 | 100 82 124
2017 95 | 113 74 104 133
2018 104 | S0 145 90 75
2019 88 75 140 75 88
2020 102 | 65 164 45 118
2021 112 | 87 155 98 142

Wi T S # e deh B g R st
Ans A 32AH

X 5 7AH

~ c. 55AH

<D 4AH

Question ID : 630680173217
Status : Answered
Chosen Option : A

Q.2 T TS T eH F T - § AR gHH ARAT 38 om ¥ WEH w1 Sare qaw
Ans A 16 cm

X< B 14 cm

XC 12 cm

XD 20 cm

Question ID : 630680173191
Status : Not Answered
Chosen Option : --

Q3 A 3T B 35 & 3T F HA YT TR U WS 1 4 T A, A F AT 5 B AT
FT T 3R B & a9 T T 40% FH a1 G| vH 99 F dq A, T 34 A & o a0 A B w
fewar (z orw #) forgar 272

Ans XA 22.357
¥ B 23.375
X C 23.357

X D. 24 375

Question ID : 630680173185
Status : Answered
Chosen Option: A




Q4 37 PsTEs # FUT A HfAC FEH =7 21 om 3# T9 TS 44 em B
Ans XA 130°

< B 125°

X< C 110°

D 120°

Question ID : 630680173241
Status : Answered
Chosen Option: D

 gfE 94 x? 52 = 625 3 3x+ 5 & AT AT FL
Ars XA B

X 5.20

xc 15

¥ D 10

Question ID : 630680173148
Status : Answered
Chosen Option : D

Q.6 &R 7w wETAR & Fut 2020 Y 2021 F e wEleT ©E FAWET & Feged B R (Fent #) e

’3 [ . — L
= %

© n
B L s _—

® |
E;w
= w0
E:

]

o

A 5 ¢ [ € v

Fufaan
« Il 12020, «¥ES 2-2021

a¥ 2020 st 2021 % fw A, C, E 3y F emanst & sitws B 1 srga w9 Hifew)
Ans KA 135 : 1555

<B 14 : 15
xcC 13 : 1555
D 14 : 15.55

Question ID : 630680173220
Status : Not Answered
Chosen Option : --




*7 aff x = 00522 - 0025 FT y=0522-025°%, & X=2

Ans oA B0
+ 8100
xc 75
X0 125

Question ID : 630680173155
Status : Answered
Chosen Option: B

Q.8 TfE v TR #1106 1 8 : 10 & 3o A § Y 9T 12 em &1 & e 1 dwwa A
Eqrre el

Ans

XA 44/3 SQCm
+ B. 21f§ sqcm
< cC 31.;'"2 sgcm
<D 2{5 sgcm

Question ID : 630680173236
Status : Answered
Chosen Option: B

Q.9 260m 3k 220m FeE & & TwERET TAW AR Fada Rer & wew 9 A 8 ¥%E N 4 weE
F UF g B I g & I A &1 el Toemer Fr e (kmph #) v @2

Ans % A 108 kmph
X B. 240 kmph
« . 180 kmph
x 0. 150 kmph

Question ID : 630680173206
Status : Not Answered
Chosen Option : --

Q.10 4 pt ot
A a+b+c=0 °z =?
%! Fn- atb®+b2ct+clal
Ans X A 3
X 5.0
xc 4
&0 2

Question ID : 630680173227
Status : Answered
Chosen Option: B




Q11 A it B 3o ffvas F= & s 16 R R 10 R & R 7o § iR 3 3 B & oo &5
TH A F FHA FA §, @ 7 e e & v @ = wwa £

Ans XA 3
x84
xc 5
+D. B

Question ID : 630680173214
Status : Answered
Chosen Option: D

Q12 3 wwst &1 A7 (LCM) 35 A.@.5. (HCF) &1 24 7 #1 3% LCM 3it HCF =7 2T 400 ¥
S g gt H § UF # 6 ¥ fwnfag fear Sar €, 9 Anther 7 9o @ § AT 9w 6y
BT &1 & S & "eaat & W@ & et & AT e 87

Ans 5 14
X & 15
xc 12
X013

Question ID : 630680173159
Status : Not Answered
Chosen Option : --

Q13 Yy@matt x=0, y=0 3 x+y=9 z=nr fAfFT e aess 7
ans > A (3,0)

v 5 (0,0)

xc (0,3)

X0 (3,3)

Question ID : 630680173245
Status : Not Answered
Chosen Option : --




Q14 frr ow FoEt @ 9d i fafEg s 7 3w & & AT §fr fageT @ T i
weaT: frger o7 stvwar foraem 37
| Tfer & eTT 27 S, 77 FhTE § AT TR H0r 75 3T

. afE fager & et so¢ 24 FaTs, 18 TS, AN 30 THE F

Ans o A

HEFE T FUF FT FIUNT Fe T F Iea{ [GAT S Thall &, Aehe] el ZAY FUT H1 ITUT Fh
3eaT A& T = HeeaT B

X B.
| 3T 1l 7 T WTY UG FE T FH Ioa] G T Weea & afeha | 3T 11 F T areenaneer 39
FTH AL

xC.
frdr off ST &7 39ANRT FF 99T & 3ca¢ &1 =T a2
X D.
| 3T 1| T T T 39T a3 W S T T 3ca7 Far ST ST T gl

Question ID : 630680173232
Status : Answered
Chosen Option: C

Q.15 = s 171 km Fr g 57 km/h &7 I F T7 T &1 84 km Fr vF I’ g 42 ke Fr T F
T AT § AT 160 km Fr AW g 40 knvh Fr TN F T FA 1 O AT F PO Iw s
T (km/h 7)) 0T fifET

x A 467
9

Ans

2

X B 46=
9

1

« C. 46-
9

5

XD 46-
9

Question ID : 630680173202
Status : Answered
Chosen Option: C

Q.16 T UF SN H RIS H 12% B FA B oS, FF = o www 7 24% FIfE g9 vfowew F 3w
TSET T FT T4 I27?

XA 102 3R

<8.10.2 FAT
XC 912 FAT

v0 912 g

Question ID : 630680173175
Status : Answered
Chosen Option : A




Q17 sror #r aAw 3y (F9 #) TR0 B IOAE HG (F9 F) &GP F UE a9 B 1 39 5 av A,
FTOT EN A FET H FAAT Y & E-FS F T gEl F F 2 AT 7g 307 AR I F A
(st #) &1 T faraar gem?

Ans X A 58
« B. B4
< cC 52

XD 50

Question ID : 630680173230
Status : Not Answered
Chosen Option : --

Q.18 s ameatr 50 ke/h Fr =T & 100 km #r &, 40 km/h Fr =1 F 3" 120 km & g 3T 60 km/h
&7 A T I 150 km T GU TF HAT §1 LU TN & fAw 58ET Awa =@ (kmh 7) F4wT 82

Ans 5 A 49
vB 492
3

2

xXc 48-
3
XD 48

Question ID : 630680173160
Status : Answered
Chosen Option : D

= =
Q.19 o = #% # 3 a¥ % Rw 14,000 AT BFv, ST WRNET T & @7 o7 T 3 Fer 217,360 e & & S
e =TT Fr &y e #2

Ans X A B%
< B. 7%
~<c 9%
¥ D 8%

Question ID : 630680173193
Status : Answered
Chosen Option: D




Q.20 A v w72 e # ¢ THar ¥ 3¢ 5¥ W O B a% 2 war ¢ 37 By B wder 9w 4
42 At & 97 Fan 71 A #R B v @y e w4 F Y 36 w4 A e A & qu s

Al
LA 283

2

X B 26-
5

3

xc 27-
5

xp 251
5

Question ID : 630680173208
Status : Not Answered
Chosen Option : --

Q.21 i e Tag @ # e = 54 kmvh §1 3 97 v i 48 kmvh Fr 9 & a9 ST
¥ @ 9w g ¥ v sEdE we W R

Ans XA 75.6 km/h
X B. 68.4 km/h
« ¢ 57.6 km/h
#D. 86.4 km/h

Question ID : 630680173167
Status : Answered
Chosen Option: B

= —— =
Q.22 v gew R v o SR @ 60 3t & #fRT mEw W 75 dfte @l 1 A 9w e o
T 6% H GE T AT &, dF SEFT o e e §2

Ans XA 16.8%
¢ 8 17.5%
X C 15.9%
<D 18.2%

Question ID : 630680173179
Status : Not Answered
Chosen Option : --




Q.23 v Affas o W 3Ea 79 F Twgfag 1 T T 16% T e 5T W U 39 F A a
axwﬁfz,memaﬁmmmﬁmwmmaﬁzi TET T WIROT =4 e 2Em?

Ans X A 25,560
+ B 35,600
x ¢ 25,500
x 0. 35,650

Question ID : 630680173196
Status : Not Answered
Chosen Option : --

Q.24 s geet R o U AEg W AR $6 WHN 3T R G 5w 21% w0 et enfaer g wfy 9
ife Hew 9T 12% #1 g AT 8, & 39 I8 W 3EF aEdee A B ar?

Ans X A 5.98%

~< B 8.18%
xc 7.28%
« D 6.48%
Question ID : 630680173183
Status : Not Answered
Chosen Option : --
—_—

Q.25 wrger & FIHT 7 45 9T kg & e 1 63 T kg & = ¥ o =y @Oa F 20% #r FAT ST A
ST, & §F T @ Al o3 A faaw wiowa i giy et

ans X n 15%
vE 12%
xc 18%
X0 10%

Question ID : 630680173168
Status : Not Answered
Chosen Option : --






